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[Time: Three Hours] [ Marks:100] 

Please check whether you have got the right question paper. 

N.B: 1. All questions are compulsory. 

2. All questions have internal choice.  

3. Draw neat diagrams wherever necessary. 

4. Use of simple calculator is permitted. 

5. Figures to the right indicate full marks. 
 

1. A. Select the best answer from the given options and rewrite the statement. (Any Ten). 10 

 i. Perfectly competitive firms face _________ demand curves. 

a. horizontal                                 b. positively sloped 

c. vertical                                      d. negatively sloped  
 

 

 ii. The firm will choose to shut down when __________. 

a. revenues no longer cover variable costs 

b. losses are larger than fixed costs 

c. both a and b 

d. neither a nor b  
 

 

 iii. Economists call a market that has only one producer: ________. 

a. perfect competition                     b. monopoly 

c. monopolistic competition           d. oligopoly 

 

 

 iv. Group equilibrium in monopolistic competition assumes_________. 

a. uniformity                     b. symmetry 

c. both a and b                 d. none of the above 

 

 

 v. Oligopoly is a form of market in which there exists ___________. 

a. a single firm                         b. two firms 

c. few firms                              d. many firms 
 

 

 vi. Paul Sǁeezy’s ŵodel has a __________deŵaŶd curǀe. 

a. vertical                           b. horizontal 

c. diagonal                         d. kinked  

 

 

 vii. Mark-up pricing is _________for a firm trying to enter a market. 

a. not suitable                             b. suitable 

c. appropriate                             d. eligible 

 

 

 viii. Under marginal cost pricing ____________. 

a. P = MC                                     b. P = MR 

c. P = AC                                      d. all of the above 

 

 

 ix. Price discrimination is used in the case of __________. 

a. bus tickets                          b. electricity charges 

c. sports events                     d. all of the above 
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 x. Investment to replace obsolete equipment is generally done for____________. 

a. expansion of production capacity 

b. expansion into new markets 

c. diversification into new production lines  

d. none of the above  

 

 

 xi. Payback period method is more suitable to ___________. 

a. the short run                                  b. the long run 

c. both a and b                                   d. neither a  nor  b 

 

 

 xii. A project is profitable if the IRR is _________. 

a. greater than the market rate of interest  

b. less than the market rate of interest 

c. equal to the market rate of interest 

d. all of the above 

 

 

1. B. State whether the following statement are True or False (Any Ten).  10 

 i. The necessary condition for profit maximization is that MC is equal to MR.  

 ii. The equilibrium price of the monopolist is always higher than that of the firm in perfect 

competition. 

 

 iii. The monopoly firm is a price maker.   

 iv. The demand curve for a firm in monopolistic competition is vertical.  

 v. An oligopoly market has only one seller.  

 vi. Cartels control price and supply of products.   

 vii. Companies use transfer pricing to avoid taxes.  

 viii. Full cost pricing provides a guaranteed profit.  

 ix. Multiple product pricing is based on product relationships.  

 x. When NPV is positive the project is rejected.   

 xi. Payback period method favours projects with quick recovery.  

 xii. The IRR method rejects a project if the market rate of interest is greater than the IRR. 

 
 

 

2.  Attempt A and B or C and D  

 A. Describe the characteristic features of perfect competition.   08 

 B. Explain equilibrium of a monopoly firm earning supernormal profit in the short run. 

OR 

07 

 C. Explain the equilibrium of the firm and industry in the long run under perfect competition.   08 

 D. Read the paragraph below and answer the following questions. 

More than 90% of personal computer users in the world use the Windows Operating System. This 

is ensured by barriers to entry such as heavy advertising and frequent introduction of new variants 

of the software. There are no other close substitutes of the Windows Operating System. 

i) Name the market structure being described in the paragraph above. 

ii) Describe the characteristic features of the market identified by you  in question(i) 

 

07 

3.  Attempt A and B or C and D  

 A. Discuss selling costs as a feature of monopolistic competition.  08 

 B. Using a diagram explain why prices are rigid in oligopoly.   07 

www.muadda.com

www.muadda.com



 Q.P. Code :04843 

 

3                                                                   TURN OVER 

 

OR 

 C. Analyze equilibrium of a firm in monopolistic competition in the short run.  08 

 D. Read the paragraph below and answer the following questions.  07 

  In Mumberg there are few sellers who are dominant firms in the electronics market. The 

remaining sellers make their decisions on the basis of decisions taken by the dominant sellers in 

the market. This results in rivalry and the firm which is successful is the one that can predict the 

riǀal’s reaction to its own action. For analysis of the market situation the firm may use game 

theory. 

i) Name the market structure being described in the paragraph above. 

ii) Describe the characteristic features of the market identified by you in question (i). 

 

 

4.  Attempt A and B or C and D  

 A. Describe the conditions under which price discrimination is possible.  08 

 B. Write a note on marginal cost pricing. 

OR 

07 

 C. Explain the multiple product pricing method. 08 

 D. i)  Examine the merits and demerits of the full-cost pricing method.  

ii)  Assuming a desired mark-up of 14%, if average variable cost is Rs. 65 and average fixed cost is 

Rs.25, calculate the full cost price of product Z of firm Zip Zap Zoom. 

 

07 

5.  Attempt A and B or C and D  

 A. What is capital budgeting? Explain its importance.  08 

 B. Write a note on the Net Present Value method.  

OR 

07 

 C. Explain the IRR method.  08 

 D. In the following table are four projects with their initial investments and their annual cash 

inflows. Calculate the payback period for each project and rank the projects.  

Project Initial Investment Annual Cash Flow 

A 30,000 7,500 

B 20,000 4,000 

C 15,000 7,500 

D 10,000 10,000 

  

07 

6.  Attempt A and B OR Write short notes on any four.   

 A. Explain the equilibrium of firms in the short run in perfect competition under conditions of 

differential cost. 

10 

 B. Debate the role of advertising.  

OR 

10 

6.  Write short notes. (Any Four). 20 

  i) Sources of monopoly power 

ii) Excess capacity 

iii) Distinction between monopolistic competition  and perfect competition  

iv) Degrees of price discrimination  

v) Transfer pricing  

vi) Steps in capital budgeting 
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[वȯळ: ३ तास] [ गणु: १००] 

सचूना: १. सवव प्रश्न आवश्यक आहȯत. 
२. सवव प्रश्नाांना अांतगवत पयावय आहȯत. 
३. आवश्यक तȯथȯ सबुक आकृत्या काढा. 
४. साध्या गणक यांत्राचा वापर करण्यास परवानगी आहȯ. 
५. उजवीकडील अांक पणूव गणु दर्वववतात.  

 

१. अ. ददलȯल्या पयावयामधून योग्य उत्तराची ननवड कǾन वाक्यȯ पनु्हा ललहा. (कोणतȯही दहा) १० 

 १. पणूव स्पधावत्मक उद्योगसांस्थȯचा मागणी वक्र __________ असतो. 
अ) क्षितीज समाांतर                 ब) धनात्मक उताराचा 
क) उभा                          ड) ऋणात्मक उताराचा 

 

 २. उद्योगसांस्था बांद करण्याचा ननणवय अर्ावȯळी घȯतला जातो जȯव्हा ___________. 
अ) महसलुातनू बदलता खचव भǾन ननघत नाही                   

ब) स्स्थर खचाव पȯिा तोटा अधधक असतो. 
क) दोन्ही अ आणण ब  

ड) अ अथवा ब दोन्ही नाही 

 

 ३. बाजारात जȯव्हा एकच उत्पादक असतो तȯव्हा अथवर्ास्त्रज्ञ त्याला असȯ सांबोधतात____________ 

अ) पणूव स्पधाव                ब) मक्तȯदारी 
क) मक्तȯदारीयकु्त स्पधाव       क) अल्पाधधकार 

 

 ४. मक्तȯदारीयकु्त स्पधेतील समहु सांतलुनामध्यȯ _________गहृीत धरलȯ जातȯ. 
अ) एकǾपता                        ब) प्रमाणबद्धता 
क) दोन्ही अ आणण ब                 क) वरीलपȰकी नाही  

 

 ५. अल्पाधधकार हा असा बाजाराचा प्रकार आहȯ. ज्यामध्यȯ _________ अस्स्तत्वात असतȯ. 
अ) एकच उद्योग सांस्था                 ब) दोन उद्योग सांस्था 
क) अल्प उद्योगसांस्था                   ड) अनȯक उद्योगसांस्था 

 

 ६. पॉल स्स्वझीच्या प्रनतमानात मागणी वक्र __________असतो. 
अ) उभा               ब) क्षितीज समाांतर 

क) कणव रȯषा            ड) बाकदार  

 

 ७. बाजारात प्रवȯर् कǾन पाहणाऱ्या उद्योगसांस्थȯला पणूव खचव ककांमत ननधावरण________ 

अ) योग्य नसतȯ                 ब) योग्य असतȯ  

क) साजȯसȯ असतȯ                ड) पात्र असतȯ 

 

 ८. सीमाांत खचव  ननधावरणमध्यȯ 
अ) P = MC                                     ब)  P = MR 

क)  P = AC                                      ड)  वरील सवव 
 

 

 ९. याबाबतीत मलु्याववभȯदाचा उपयोग कȯ ला जातो. 
अ) बसची नतककटȯ                  ब) ववद्यतु आकारणी 
क) खȯळाांचȯ कायवक्रम                   ड) वरील सवव 
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 १०. कालबाह्य साधनाच्या बदलीकाररता कȯ ली जाणारी गुांतवणूक सामान्यपणȯ याकररता कȯ ली 
जातȯ___________ 

अ) उत्पादन िमतȯचा ववस्तार  

ब) नवीन उत्पादन बाजारातील ववस्तार 

क) नवीन उत्पादन रȯखȯतील ववववधीकरण  

ड) वरीलपȰकी नाही 

 

 ११. परतावा कालावधी पद्धत ________करीता अधधक योग्य आहȯ. 
अ) अल्प कालावधी                      ब) दीघव कालावधी 
क) दोन्ही अ व ब                       क) अ अथवा ब नाही  

 

 १२. अांतगवत परतावा दर _________ असल्यास प्रकल्प लाभदायक असतो. 
अ) बाजार व्याजदरापȯिा अधधक  

ब) बाजार व्याजदरापȯिा कमी असल्यास  

क) बाजार व्याजदरा बरोबर असल्यास 

ड) वरील सवव 

 

    

१. ब. खालील ववधानȯ चकु कक बरोबर तȯ साांगा. (कोणतȯही दहा) १० 

 १. लसमाांत खचव बरोबर लसमाांत प्राप्ती दह महत्तम नफ्याची आवश्यक अट आहȯ.  

 २. पणूव स्पधेतील उद्योग सांस्थȯपȯिा मक्तȯदाराची सांतलुलत ककांमत नȯहमी अधधक असतȯ.  

 ३. मक्तȯदारी उद्योग सांस्था ककांमत कती असतȯ.  

 ४. मक्तȯदारीयवुत स्पधेतील उद्योगसांस्थȯचा मागणी वक्र नȯहमी उभा असतो.  

 ५. अल्पाधधकार बाजारात एकच ववक्रȯ ता आसतो.  

 ६. काटेल सांघ वस्तचूी ककांमत आणण परुवठा ननयांत्रत्रत करतात.  

 ७. कां पन्या हस्ताांतरणीय ककां लमतीचा उपयोग कर टाळण्याकररता करतात.  

 ८. पणूव खचव ककांमत ननधावरण नफ्याची हमी दȯतȯ.  

 ९. बहुवस्त ूककांमत ननधावरण उत्पादन सांबांधावर आधारलȯली आहȯ.  

 १०. जȯव्हा ननव्वळ वतवमान मलू्य धनात्मक असतȯ तȯव्हा प्रकल्प ननवडला जात नाही.  

 ११. परतावा कालावधी पद्धत तात्काळ परतावा करणाऱ्या प्रकल्पाांना पसांती दȯतȯ.  

 १२. एखाद्या प्रकल्पामध्यȯ जर बाजार व्याज दर अांतगवत परतावा दरापȯिा अधधक असल्यास अांतगवत परतावा दर 
पद्धत असा प्रकल्प नाकारतȯ. 
 

 

२.  अ आणण ब अथवा क आणण ड या प्रश्नाांची उत्तरȯ ललहा.  

 अ. पणूव स्पधेची वȰलर्ष्ट्यȯ ववर्द करा.  ०८ 

 ब. अल्पकाळात मक्तȯदारी बाजारात अवाजवी नफा कमवणाऱ्या उद्योगसांस्थȯचा समतील स्पष्टट करा. 
क िं वा 

०७ 

 क. पणूव स्पधेतील उद्योगसांस्था आणण उद्योगाचा दीघवकालीन समतोल स्पष्टट करा. ०८ 

 ड. खालील उतारा वाचून त्याखाली ददलȯल्या प्रश्नाांची उत्तरȯ ललहा. ०७ 
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  जगातील ९०% पȯिा अधधक सांगणक वापरकत ेहȯ वव ांडोज ऑपरȯदटांग लसस्टमचा वापर करतात.नवीन प्रवȯर्ावर 
प्रनतबांध कǾन जसȯ कक भक्कम जादहरातबाजी आणण सातत्यानȯ नवनवीन सॉफ्टवȯअर बाजारात आणून हȯ 
कȯ लȯ जातȯ. वव ांडोज ऑपरȯदटांग लसस्टमला इतर नजीकचȯ पयावय उपलब्ध नाहीत. 

i) वरील उताऱ्यात ववर्द कȯ लȯल्या बाजार रचनȯचȯ नाव साांगा. 
ii) पदहल्या प्रश्नामध्यȯ तमु्ही ओळखलȯल्या बाजाराची वȰलर्ष्ट्यȯ ववर्द करा. 

 

 

३.  अ आणण ब अथवा क आणण ड या प्रश्नाांची उत्तरȯ ललहा.  

 अ. ववक्री खचव हȯ आहȯ मक्तȯदारीयवुत स्पधेचȯ वȰलर्ष्ट्यȯ आहȯ चचाव करा.  ०८ 

 ब. अल्पाधधकारात ककांमती का ताठर असतात तȯ आकृतीच्या आधारȯ सपष्टट करा. 
क िं वा 

०७ 

 क. मक्तȯदारीयवुत स्पधेतील उद्योगसांस्थȯचा अल्प्दालीन समतोल सपष्टट करा. ०८ 

 ड. खालील उतारा वाचून त्याखाली ददलȯल्या प्रश्नाांची उत्तरȯ ललहा. ०७ 

  मुांबगव मध्यȯ इलȯक्रॉननक बाजारात अल्प ववक्रȯ तȯ आहȯत. या प्रबळ अर्ा स्वǾपाच्या उद्योग सांस्था आहȯत. 
उववररत ववक्रȯ तȯ आपला ननणवय या ववक्रȯ त्याांनी बाजारात घȯतलȯल्या ननणवयावर आधाररत ननणवय घȯतात. याचा 
पररणाम म्हणून प्रनतस्पधावमध्यȯ सांघषव ननमावण होतो. आणण जी उद्योग सांस्था यर्स्वी असतȯ ती आपल्या 
कृतीला प्रनतस्पधी कोणती प्रनतकक्रया दȯईल याचा अांदाज करत असतȯ. बाजाराच्या या ववश्लȯर्ानाकरीता याला 
खȯळ लसद्धाांत ही सांज्ञा वापरली जाऊ र्कतȯ. 

i) पदहल्या उताऱ्यात ववर्द कȯ लȯली बाजार रचना साांगा. 
ii) पदहल्या प्रश्नामध्यȯ तमु्ही ओळखलȯल्या बाजाराची वȰलर्ष्ट्यȯ ववर्द करा.  

 

 

४.  अ आणण ब अथवा क आणण ड या प्रश्नाांची उत्तरȯ ललहा.  

 अ. मलु्याववभȯद कोणत्या स्स्थतीत र्क्य होतो तȯ ववर्द करा.  ०८ 

 ब. लसमाांत खचव ककांमत पद्धत यावर टीप ललहा. 
क िं वा 

०७ 

 क. बहुवस्त ूककांमत ननधावरण स्पष्टट करा.  ०८ 

 ड. i) पणूव खचव ककांमत पद्धतीचȯ गणु व दोष स्पष्टट करा.  

ii) उद्योगसांस्थȯनȯ १४% इतकȯ  माकव अप गहृीत धरलȯ आहȯ. सरासरी बदलता खचव ǽ. ६५  आणण सरासरी 
स्स्थर खचव ǽ. २५ आहȯ. तर झीब झॅप झु सांस्थȯच्या Z वस्तचूी पणूव खचव ककांमत काढा. 
 

०७ 

५.  अ आणण ब अथवा क आणण ड या प्रश्नाांची उत्तरȯ ललहा  

 अ. भाांडवली अांदाजपत्रक म्हणजȯ काय? त्याचȯ महत्व सपष्टट करा.  ०८ 

 ब. ननव्वळ वतवमान मलू्य पद्धत यावर टीप ललहा. 
क िं वा 

०७ 

 क. अांतगवत परतावा दर पद्धत स्पष्टट करा. 
 

 

 

 

०८ 
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 ड. खालील कोष्टटकात चार प्रकल्पाांची सǽुवातीची गुांतवणकू आणण वावषवक रोकड प्रवाह ददला आहȯ प्रत्यȯक 
प्रकल्पाचा परतफȯ ड कालावधी काढा आणण प्रकल्पाांना क्रम द्या. 
प्रकल्प  सुǽवातीची गुांतवणकू  वावषवक रोका प्रवाह 

अ ३०,००० ७,५०० 
ब २०,००० ४,००० 
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